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pediatr ciéJnt ok the weight of all the children that visited her clinic in the month of
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Interprete histograms

A pediatrician took the weight of all the children that visited her clinic in the month of
ctober
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How many children were there in all?

he height of each bar shows the number of children in that range

o, read the height of each bar from the graph.

Range number of children
21-40 3
41-60 8
61-80 2
81-100 S
101-120 1
121-140 1

Add to find the total number of children whose weights were taken

3+8+2+5+1+1=2

So, there were 20 children in all
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